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QUESTION 1

What are the requirements for a boot from SAN? (Choose two.)
A. The host server and storage should be from the same vendor
B. Only CNAs can be used

C. An active path to the LUN is required.

D. Zoning of the LUN containing the OS image is required

Correct Answer: AB

QUESTION 2

Your company needs to buy more disks for new servers and are considering SSD and HDD solutions What are two
reasons why you would recommend using SSD? (Choose two.)

A. no moving parts

B. better performance
C. high capacity

D. lower cost

Correct Answer:. AB

QUESTION 3

What is the name of the process by which a SAN dynamically extends volumes depending on server and application
needs?

A. copy On First Write (COFW)
B. deduplication

C. LUN expansion

D. thin provisioning

Correct Answer: C

QUESTION 4
What are two characteristics of Challenge-Handshake Authentication Protocol (CHAP)? (Choose two.)

A. CHAP uses a parity algorithm to jumble the credentials for security.
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B. CHAP uses a Point-to-Point Protocol (PPP) method.
C. CHAP uses a hash mechanism so the clear text authentication piece is never sent.
D. CHAP is required for iSCSI initiator authentication

Correct Answer: BD

QUESTION 5

Which device would communicate to a DAS?
A. switch

B. HBA

C.NIC

D. DB9 serial cable

Correct Answer: D
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